# MAISON DES CONSEILS ET TECHNIQUE POUR LA CONSTRUCTION

## **ESTIMATE AND QUANTITATIVE QUOTATION**

(A Project of building a primary school holding 10 classrooms, one office and latrines Its area:  $90 \text{ m} \times 9 = 810 \text{ m}^2$ , Office:  $11 \text{ m} \times 4.5 \text{ m} = 49.5 \text{ m}^2$ , Latrines  $11 \text{ m} \times 2.5 \text{ m} = 27.5 \text{ m}^2$ )

| N°    | Items                     | Unit           | Quantity | Unit Price<br>(USD) | Total Price<br>( USD) |
|-------|---------------------------|----------------|----------|---------------------|-----------------------|
| I.    | Foundation                |                |          | (030)               | ( 030)                |
| 1.1   | Quarry or rubble          | m <sup>3</sup> | 76       | 15                  | 1140                  |
| 1.2   | Cement                    | sacks          | 150      | 20                  | 3000                  |
| 1.3   | Sand                      | m <sup>3</sup> | 45       | 12                  | 540                   |
| 1.4   | Gravels                   | m <sup>3</sup> | 35       | 15                  | 525                   |
| 1.5   | Concrete iron size 12     | pieces         | 80       | 15                  | 1200                  |
| 1.6   | Concrete iron size 6      | pieces         | 50       | 5                   | 250                   |
| 1.7   | Binding wires             | kg             | 50       | 3,5                 | 175                   |
| 1.8   | Planks of framing         | pieces         | 64       | 8                   | 512                   |
| 1.9   | Chair planks              | pieces         | 32       | 4,5                 | 144                   |
| 1.10  | Sticks                    | pieces         | 40       | 4                   | 160                   |
| 1.11  | Jigsaw                    | pieces         | 3        | 7                   | 21                    |
| 1.12  | Sawyer thin (sheet plate) | pieces         | 12       | 2,5                 | 30                    |
| 1.13  | Barrow                    | pieces         | 4        | 50                  | 200                   |
| 1.14  | Spade                     | pieces         | 10       | 7                   | 70                    |
| 1.15  | Pick axe                  | pieces         | 10       | 7                   | 70                    |
| 1.16  | Hoes                      | pieces         | 4        | 4                   | 16                    |
| 1.17  | Plate                     | pieces         | 10       | 10                  | 100                   |
| 1.18  | Watering pipe             | roller         | 2        | 50                  | 100                   |
| 1.19  | Bucket                    | pieces         | 8        | 10                  | 80                    |
|       |                           |                |          |                     | 8333                  |
| II    | Walls in baken bricks     |                |          |                     |                       |
| II.1  | Baked bricks              | pieces         | 100000   | 0,035               | 3500                  |
| 11.2  | Cement                    | sacks          | 200      | 20                  | 4000                  |
| 11.3  | Concrete iron size 12     | pieces         | 110      | 15                  | 1650                  |
| 114   | Concrete iron size 6      | pieces         | 70       | 5                   | 350                   |
| 11.5  | Binding Wires             | kg             | 50       | 3,5                 | 175                   |
| 11.6  | Planks of framing         | pieces         | 80       | 8                   | 640                   |
| 11.7  | Sand                      | m <sup>3</sup> | 65       | 12                  | 780                   |
| 11.8  | Gravel                    | m <sup>3</sup> | 45       | 15                  | 675                   |
| 11.9  | Scaffolding sticks        | $m^3$          | 86       | 4                   | 344                   |
| II.10 | Nails size 8,10,12        | kg             | 130      | 2                   | 260                   |
| II.11 | Mason strings             | roller         | 6        | 6                   | 36                    |
| II.12 | Sawing                    |                | FF       | 68                  | 68                    |
|       |                           | _              |          |                     | 12478                 |

| III  | N°    | Items                | Unit           | Quantity | Unit Price | Total Price USD |
|--|-------|----------------------|----------------|----------|------------|-----------------|
| III.1   Iron Sheet   | Ш     | Roofing              |                |          |            |                 |
| III.3   Rafters  | III.1 |                      | pieces         | 490      | 23         | 11270           |
| III.4   Iron sheet nails   | III.2 | Thick board (Planks) | pieces         | 320      | 5          | 1600            |
| III.4   Iron sheet nails   | III.3 | Rafters              | + '            | 300      | 3          | 900             |
| III.5  | III.4 | Iron sheet nails     | <u> </u>       | 100      | 4          | 400             |
| III.6  | III.5 | Nails size 8         |                | 80       | 2          | 160             |
| III.7  | III.6 | Nails size 10        |                | 60       | 2          | 120             |
| N.1   Cement   Sacks   180   20   3600   N.2   Sand   m³   30   12   3600   N.3   Fine sand   m³   35   12   420   420   M.3   Fine sand   m³   35   12   420   M.3   Fine sand   M³   M³   M³   M³   M³   M³   M³   M  | III.7 | Nails size 12        |                | 50       | 2          | 100             |
| N.1   Cement   |       |                      |                |          |            | 14 550          |
| N.1   Cement   | IV    | Crepissage           |                |          |            |                 |
| V.3   Fine sand  | IV.1  |                      | sacks          | 180      | 20         | 3600            |
| V         Ceiling and pavement         With a state of the pieces         Ceiling and pavement         Ceiling and pavement         Ceiling and pavement         Ceiling and pavement hedgehog         m³         25         15         375         375         375         375         375         375         375         375         375         375         375         376         370         370         376         375         400         20         2000  | IV.2  | Sand                 |                | 30       | 12         | 360             |
| V         Ceiling and pavement         W.1         Pavement hedgehog         m³         25         15         375           V.2         Cement         sack         100         20         2000           V.3         Sand         m³         40         12         480           V.4         Unalytes         pieces         253         12         3036           V.5         Rafters         pieces         336         3         1008           V.6         Planks (small board)         pieces         86         4,5         387           V.7         Nails size 5         kg         60         2         120           V.8         Nails size 10         kg         50         2         100           V.9         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           V.11         Metallic doors         pieces         12   | IV.3  | Fine sand            | m <sup>3</sup> | 35       | 12         |                 |
| V.1       Pavement hedgehog       m³       25       15       375         V.2       Cement       sack       100       20       2000         V.3       Sand       m³       40       12       480         V.4       Unalytes       pieces       253       12       3036         V.5       Rafters       pieces       336       3       1008         V.6       Planks (small board)       pieces       86       4,5       387         V.7       Nails size 5       kg       60       2       120         V.8       Nails size 8       kg       50       2       100         V.9       Nails size 10       kg       50       2       100         V.10       Nails size 12       kg       25       2       50         V.11       Sawing       FF       120       120         7776         VI       Framing and Painting       FF       120       120         VI.1       Metallic doors       pieces       12       130       1560         VI.2       Metallic windows       pieces       4       100       400         VI.2       Mood   |       |                      |                | 1        |            | 4380            |
| V.2         Cement         sack         100         20         2000           V.3         Sand         m³         40         12         480           V.4         Unalytes         pieces         253         12         3036           V.5         Rafters         pieces         336         3         1008           V.6         Planks (small board)         pieces         86         4,5         387           V.7         Nails size 5         kg         60         2         120           V.8         Nails size 8         kg         50         2         100           V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           V.11         Metallic doors         pieces         12         130         1560           VI.1         Metallic windows         pieces         4         120         5280           VI.2         Metallic windows         pieces         4         100         400           VI.2         Metallic windows         <  |       |                      | 2              |          |            |                 |
| V.3         Sand         m³         40         12         480           V.4         Unalytes         pieces         253         12         3036           V.5         Rafters         pieces         336         3         1008           V.6         Planks (small board)         pieces         86         4,5         387           V.7         Nails size 5         kg         60         2         120           V.8         Nails size 8         kg         50         2         100           V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.1.1         Sawing         FF         120         120           7776           VI         Framing and Painting         VI         130         1560           VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         4         120         5280           VI.3         Wooden doors         pieces         4         100         400  |       | 0 0                  | m³             |          |            |                 |
| V.4         Unalytes         pieces         253         12         3036           V.5         Rafters         pieces         336         3         1008           V.6         Planks (small board)         pieces         86         4,5         387           V.7         Nails size 5         kg         60         2         120           V.8         Nails size 8         kg         50         2         100           V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           7776           VI         Framing and Painting         VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         4         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden tables         pieces  |       |                      |                |          |            |                 |
| V.5         Rafters         pieces         336         3         1008           V.6         Planks (small board)         pieces         86         4,5         387           V.7         Nails size 5         kg         60         2         120           V.8         Nails size 8         kg         50         2         100           V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           7776           VI         Framing and Painting         7776           VI         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         44         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden tables         pieces         15         80         1200 <td< td=""><td>V.3</td><td>Sand</td><td>m<sup>3</sup></td><td>40</td><td>12</td><td>480</td></td<>  | V.3   | Sand                 | m <sup>3</sup> | 40       | 12         | 480             |
| V.6         Planks (small board)         pieces         86         4,5         387           V.7         Nails size 5         kg         60         2         120           V.8         Nails size 8         kg         50         2         100           V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           7776           VI         Framing and Painting         7776           VI         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         44         120         5280           VI.2         Metallic windows         pieces         4         100         400           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden tables         pieces         15         80         1200  | V.4   | Unalytes             | pieces         | 253      | 12         | 3036            |
| V.7         Nails size 5         kg         60         2         120           V.8         Nails size 8         kg         50         2         100           V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           7776           VI         Framing and Painting         Transport           VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         4         120         5280           VI.2         Metallic windows         pieces         4         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         15         80         1200           VI.7         Wooden tables         pieces         15         100         1500  | V.5   | Rafters              | pieces         | 336      | 3          | 1008            |
| V.8         Nails size 8         kg         50         2         100           V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           7776           VI         Framing and Painting         7776           VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         4         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.5         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         20 <t< td=""><td>V.6</td><td>Planks (small board)</td><td>pieces</td><td>86</td><td>4,5</td><td>387</td></t<>   | V.6   | Planks (small board) | pieces         | 86       | 4,5        | 387             |
| V.9         Nails size 10         kg         50         2         100           V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           VI.1         Framing and Painting         VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         44         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.5         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50  | V.7   | Nails size 5         | kg             | 60       | 2          | 120             |
| V.10         Nails size 12         kg         25         2         50           V.11         Sawing         FF         120         120           7776           VI         Framing and Painting         VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         44         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.5         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6<  | V.8   | Nails size 8         | kg             | 50       | 2          | 100             |
| V.11         Sawing         FF         120         120           7776           VI         Framing and Painting         VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         44         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | V.9   | Nails size 10        | kg             | 50       | 2          | 100             |
| VI         Framing and Painting         Secondary         Framing and Painting         Framing and Painting | V.10  | Nails size 12        | kg             | 25       | 2          | 50              |
| VI         Framing and Painting           VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         44         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | V.11  | Sawing               |                | FF       | 120        | 120             |
| VI.1         Metallic doors         pieces         12         130         1560           VI.2         Metallic windows         pieces         44         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  |       |                      |                |          |            | 7776            |
| VI.2         Metallic windows         pieces         44         120         5280           VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30   | VI    | Framing and Painting |                |          |            |                 |
| VI.3         Wooden doors         pieces         4         100         400           VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | VI.1  | Metallic doors       | pieces         | 12       | 130        | 1560            |
| VI.4         Wooden desks         pieces         160         45         7200           VI.5         Wooden chairs         pieces         20         20         400           VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30   | VI.2  | Metallic windows     | pieces         | 44       | 120        | 5280            |
| VI.5         Wooden chairs         pieces         20         20         400           VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | VI.3  | Wooden doors         | pieces         | 4        | 100        | 400             |
| VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | VI.4  | Wooden desks         | pieces         | 160      | 45         | 7200            |
| VI.6         Wooden tables         pieces         15         80         1200           VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | VI.5  | Wooden chairs        | pieces         | 20       | 20         | 400             |
| VI.7         Wooden cup-board         pieces         15         100         1500           VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30   | VI.6  | Wooden tables        | -              | 15       | 80         | 1200            |
| VI.8         Chalk         sack         20         10         200           VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | VI.7  |                      | + -            | 15       | 100        | 1500            |
| VI.9         Oil painting         boxes         45         20         900           VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | VI.8  | •                    | <u> </u>       | 20       | 10         | 200             |
| VI.10         Water color         boxes         50         8         400           VI.11         Brush size 4, 5,6         pieces         15         2         30  | VI.9  |                      |                | 45       | 20         | 900             |
| VI.11         Brush size 4, 5,6         pieces         15         2         30   | VI.10 |                      |                | 50       | 8          | 400             |
|  | VI.11 |                      |                | 15       | 2          | 30              |
|  | VI.12 | Roller               | pieces         | 6        | 5          | 30              |

| VI.13 | Mixing basin (bowl) | pieces | 8 | 5 | 40    |
|-------|---------------------|--------|---|---|-------|
|       |                     |        |   |   | 19140 |

| N°              | Items                      | Unit           | Quantity | <b>Unit Price</b> | <b>Total Price USD</b> |
|-----------------|----------------------------|----------------|----------|-------------------|------------------------|
| VII             | Latrines                   |                |          |                   |                        |
| VII.1           | Cements                    | sacks          | 36       | 20                | 720                    |
| VII.2           | Sand                       | m <sup>3</sup> | 25       | 12                | 300                    |
| VII.3           | Gravels                    | m <sup>3</sup> | 15       | 15                | 225                    |
| VII.4           | Baked bricks               | pieces         | 15000    | 0,35              | 525                    |
| VII.5           | Iron sheet size 32         | pieces         | 20       | 11                | 220                    |
| VII.6           | Concrete iron size 8       | pieces         | 30       | 10                | 300                    |
| VII.7           | Binding rope               | kg             | 20       | 3                 | 60                     |
| VII.8           | Simple woden doors         | pieces         | 10       | 45                | 450                    |
| VII.9           | Pvc 110 of the air exhaust | pieces         | 10       | 23                | 230                    |
| VII.10          | Iron sheet nails           | kg             | 10       | 4                 | 40                     |
| VII.11          | Simple nails               | kg             | 12       | 2                 | 24                     |
|                 |                            |                |          |                   | 3094                   |
| VIII Transport  |                            |                |          |                   | 850                    |
| The Amount      |                            |                |          |                   | 70601                  |
| Unforeseen (2%) |                            |                |          |                   | 1412                   |
| Worker's wages  |                            |                |          |                   | 10487                  |
| GENE            | GENERAL TOTAL              |                |          |                   | 82500                  |

Done at Kazimia, by March 5<sup>th</sup>, 2011

**BASSE ELA Wabo Bolenge Building Contractor** 

Tel: +243998913350 - 243817474448 - 243853518660

#### **About Glenn Paige Nonkilling School (GPNKS)**

The Glenn Paige Nonkilling School is a free of charge one initiated by the Mleci non profit Organisation at Kazimia, Fizi territory, South Kivu in the Democratic Republic of Congo. It was created in September 2006 for the vulnerable children who couldn't study because of lack of financial means caused by war outcomes.

#### . Objectives of the School

- To allow vulnerable children victims of war (orphans, ex-combatants, AIDS'victims, disabled, poor monoparental children, abandoned, chased from their families) to study and follow quality teachings without paying any free
- To allow a child no matter his or her living conditions to blossom chiefly through culture, education, in order to reach the millennium development goals for in the education sector
- To fight against poverty and for the whole development of our region
- To spread a nonviolence leadership in the Great Region countries through nonviolence and nonkilling teachings
- To make the Glenn Paige NonKilling School and Kazimia (South Kivu) an important sociocultural beaming center through out the Great Lakes region of Africa
- To make from the pioneering work of Glenn Paige Nonkilling School a favourable spreading of the nonviolence and nonkilling course through all the schools of our region

#### . Statistics

The Glenn Paige Nonkilling School had in:

| School year | Number of Pupil |
|-------------|-----------------|
| 2006-2007   | 122             |
| 2007-2008   | 180             |
| 2008-2009   | 202             |
| 2009-2010   | 236             |
| 2010-2011   | 262             |

### . Classes (actually)

Nursing school: 1<sup>st</sup> form, 2<sup>nd</sup> form

Primary School: 1<sup>st</sup> form, 2<sup>nd</sup> form, 3<sup>rd</sup> form and 4<sup>th</sup> form

We will add 2 more nursing school classrooms due to the number of children, and 5<sup>th</sup> and 6<sup>th</sup> form of primary school. So we will have the full primary school.

- . Personnel (8 workers)
- 6 Teachers, 1 Assistant ant The Principal
- . Teachings

The Glenn Paige Nonkilling School follows the national teaching program used in the RD Congo Apart from that program, Nonviolence and nonkilling courses are taught and English.

. How does it work

The Glenn Paige Nonkilling School works with grants coming from local churches and community local and international partners.

- . Glenn Paige Nonkilling School a pioneering school
  - By free of charge and quality teaching
  - By introducing nonviolence and nonkilling teachings taught in all classes
  - By introducing the English course taught in all levels
  - By providing the pupils with free of charge food and medicines

The Glenn Paige Nonkilling and Nonviolence courses was initiated by a translating team into Kiswahili of a book named "Nonkilling Global Political Science" (Glenn Paige).

They made it delicious, agreeable and practical.

The future life of Glenn Paige Nonkilling School, and of those vulnerable children depends upon your help.

Welcome to Kazimia, Welcome to Glenn Paige Nonkilling School.